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15B,l1100 hшq rlшrлLшршl q< Чq 370 3400 125в000

15821500 рfu{шбршрfiр q< Чq в50 20 17000
15831000 :2шршпшL|шq uщ|Lлшt| q< Чq 370 200 74000
15в41100 Цшhrлп q< Чq 5Ф00 2 10000
15842310 hпt$Ьи, Цшпшrlh q< Чq 1150 5 5750

15821500-1 {шSф q< Чq 1200 10 12000

15851100 rIшЦrлппLЬпЬtr q< Чq 20 200 64000
15в63200 ah ulr q<: Чq 6000 3 18000

15в72400 шп ЦЬпшЦпh, rIшLп q< Чq 1в0 100 1в000
15в72600 чпцш q< urпLф 250 5 1250

15898000 ludnnht q< ипLф 190 2 380
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15331151 1пр| hшш|t4ш{пр q< Чq 1500

,l0
15000

15331,|53 пчщ, rдrJпппрrлLшtl q( Чq 550 100 55000
l533l154 пlпп, шrJрпц9ш[lшtl q< Чq 300 50 15000

15311100 tшпLпп$ht q< Чq 200 2300 460000
15331163 бшЦtlпЬп q< Чq 200 100 20000
15331139 ht, q( Чq 250 20 5000
15331,167 ЦшLшlh, ршпrI q< Uшщ 250 2 500
15331170 rлшр4Ьr; ршпgп q< Чq 250 15 3750
15331168 udpnL[.; q< Чq ,l50

20 3000
15333100 чппrIшиh rIш&пLh q< Чq 1100 2 2200
15332290 lbrj, dnqmthtl q< Чq 1200 20 24000
15321200 ЦhчЬL q< tлпrф 400 90 36000
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156121в0 шrцпrр ршрбр rлЬчщЦh, qnnbtJh q< Чq 320 120 38400
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15619000 hшбшпшёшrlшп q< Чq )0 40 16000

1 5616000 htrпLшбшцшп q< Чq ]0 200 120000
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032214,10 hшпшdр, dшвпшё q( Чq j0 200 30000

03221124 r{ulpnrLq q< Чq 50 70 17500

03221,110 }шqшп q< чq 50 100 25000

0з221122 ццdhч q< Чq 00 20 4000
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15541200 щшUhп, lшЬшlч q( чq 1 00 30 51 000

15511100 Llшв, tцшччlЬпhq.ш rdшб 2,5% q< 00 400 1 60000

1 5551 600 dшЪпrL, Цп{h Цшрl q2,5% с}( 20 600 252000

1 5531 1 00 Цшпщс} q< Чq )00 10 35000

1 5в31 000 zшвrчпшrlшq uщhч шL] q< Чq 00 200 в0000

1 5в51 1 00 drчuшппLtiпьtt q< Чq 60 200 72000

1533115з пчщ, шdрппяшЦшLl q< Чq 50 100 65000
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